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JIE £ R BORX | BOEX | REME | B & K E | keB{l | B#EsEM
1 fRZiE ZRA TR 965,000 304 360 2,681 3,174
2 fBZIE SERCIE REA 952,000 297 364 2,615 3,205
3 fBZIE ZRA 5 917,000 299 365 2,512 3,067
4 Ea=e) B2 TREA 892,000 295 385 2,317 3,024
5 BB ZRA 5% B 892,000 272 356 2,506 3,279
= BB EN 5 |l #% (M £ f2588)
JIE 5z R BOR | BOEAR | TEME | B & A B | keBffi | BEnE(H
1 &2z E ZEA R 808,000 304 297 2,721 2,658
2 fa2iE SEfO EEE 806,000 261 308 2,617 3,088
3 ERANER REA &2 E 759,000 293 352 2,156 2,590
4 18 2 bR &% Z{E81650] 734,000 299 385 1,906 2,455
5 B2 (=W N: ZEA 730,000 282 299 2,441 2,589
TR R AR S iR (E S BEH L {1558)
S| B W | e | XIEME | THEE | FHEE | FHRE| kel | BEEM
Fg=)e) 34|  892,000{ 344,000 695,441 278 337 2,064 2,502
B2 R 18| 965,000 483,000 759,389 284 341 2,227 2,674
BEEHTE 17| 756,000 348,000 581,235 282 322 1,805 2,061
ERNER 15| 824,000/ 394,000 683,866 285 348 1,965 2,400
iLEE 11 846,000| 574,000 710,636 275 344 2,066 2,584
E 0y 11| 852,000, 498,000 685,727 288 323 2,123 2,381
FEREARIER S MOt 5E%K L (I588)
EEGS| BB B | et | RIEMEE | FHEE | THOBRE| THARE| keBEl | BECEH
B2 26|  806,000f 488,000 592,038 284 303 1,954 2,085
FEE 20|  696,000{ 262,000 571,950 284 315 1,816 2,014
HETE 19| 644,000 281,000 483,789 287 312 1,551 1,686
IR 10| 640,000/ 392,000 558,900 287 318 1,758 1,947
ERAER 9| 759,000 401,000 578,445 297 309 1,872 1,948
EHETEEHEIORE
% Al B # | &l | RIEME | FHMEE | FHRE| FHAE| kel | BEEM
£ 17| 756,000 348,000 581,235 282 322 1,805 2,061
HY 19| 644,000 281,000 483,789 287 312 1,551 1,686
Hi 36| 756,000 281,000 532,512 285 317 1,680 1,872
TEFE#HSE] L4 DrE
% Al R BOX | BOHERX | FEME | B & K & | keBffi | BEmEE
=8 |[EE&nt |ETE REBA 756,000 260 326 2,319 2,908
H9  |[BEDE |REA S 644,000 310 333 1,934 2,077




